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3 Solving Sequence

Xl()
A knot diagranﬂ ¢ €1 C2 Ci1 Cr  C5 Cip €3

Ideals for irreducible component#ﬂ)f Xpar

=W a4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 25 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u»4+u**+..- —u—1)

(i) Arc colorings

w- (1)

1
a7 = 0
1
ag = _u2
u
ar = \—ud+u
3
a3 = \u® —ud+u
ud
apl = (ud + u)
wb —ut+1
ag = \ —yb 4 2u* — u?
—uM 4+ 3u'? — 4w + B + 208 — 2t + 1
a5 = M — 412 4 710 — 6B 4 206 — o2
wl — 209 + 2u7 + u?
a10 = \ —uM® +3u!!t — 502 + 40" — 245 —uP +u
—ul® 4+ 4017 — 8uld + 8uld — 5yt 4 249 — 247 — u?
ag = \ 2! — 549 + 130! — 200!® + 2003 — 1l + o + 407 —w® —uP 4 u
u?? — 5020 + 1208 — 15010 + 8u'? + 4u'® — 8u'0 + 3ud + 3uf — 3ut + 1
ag = —u? +6u0 + -+ 20t — 2
u?? — 5u?0 + 1208 — 1500 + 8u + 4u'? — 8u'0 + 3u® +3ub —3ut + 1
ag = —u22—|—6u20+---+2u4—u2
(ii) Obstruction class = —1

(iii) Cusp Shapes
= —4u?3 4+ 240! + 4420 — 7201° — 2008 4 124017 + 48w 16 — 128u'® — 60w + 64u'd +
36ut? — 16u° — 4u® — 8u” — 8ub + 16w’ + 12u* — 16w — 4u? — 4u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
c1,Cq u® —u w1
C2 u®® +13u* 4+ Fu 1
C3,C4,C
3, C4, Cs L IO |
€8, C9, C10
c7,C11 u?® —3u* . —Tu+8




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce y?P =13y ey -1
C2 y25_y24+.+13y_1
C3,C4,Cs y25+35y24++y_1
€8, C9, C10
7, c y*® + 15y* + - + 241y — 64




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.779045 4 0.6398631

17.3947 + 2.46841

0.82696 — 3.094891

u = —0.779045 — 0.6398631

17.3947 — 2.46841

0.82696 + 3.094891

u= 0.763751 4+ 0.5631111

6.42429 — 2.244831

0.87739 + 3.730011

u= 0.763751 — 0.5631111

6.42429 + 2.244831

0.87739 — 3.730011

u = —0.245615 + 0.8020051

14.6751 — 4.259471

—0.24448 + 2.055041

u = —0.245615 — 0.8020051

14.6751 + 4.25941

—0.24448 — 2.055041

u = —0.738513 + 0.3602571

0.77592 + 1.632537

—1.50081 — 6.325901

u = —0.738513 — 0.3602571

0.77592 — 1.632531

—1.50081 + 6.325901

u = —1.143530 + 0.3400461

0.133925 + 0.0854721

—5.86002 + 0.348751

u = —1.143530 — 0.3400461

0.133925 — 0.0854721

—5.86002 — 0.348751

1.140980 + 0.4215011

—3.95366 — 2.405611

—10.55936 + 0.028241

1.140980 — 0.4215011

—3.95366 + 2.405611

—10.55936 — 0.028241

u = 1.189550 + 0.2919501

10.21240 + 0.840571

—5.43221 + 0.403391

u=1.189550 — 0.2919501

10.21240 — 0.840571

—5.43221 — 0.403391

uw= 0.212747 4+ 0.7395291

4.10003 + 3.282341

—0.69331 — 3.261691

0.212747 — 0.7395291

4.10003 — 3.282341

—0.69331 + 3.261691

u = —1.147100 + 0.4733791

—3.57874 + 5.595831

—8.74632 — 7.675771

u = —1.147100 — 0.4733791

—3.57874 — 5.595831

—8.74632 + 7.675771

uw= 1.153710 4 0.5198621

1.36392 — 8.015881

—4.14152 + 6.750121

u= 1.153710 — 0.5198621

1.36392 + 8.015881

—4.14152 — 6.750121

u = —1.164700 + 0.5484341

11.9587 +9.27441

—3.33794 — 5.547871

u = —1.164700 — 0.5484341

11.9587 —9.27441

—3.33794 + 5.547871

u= 0.712530

—0.882258

—12.9060

u = —0.098501 + 0.6423381

—0.67035 — 1.337341

—5.73536 + 4.964791

u = —0.098501 — 0.6423381

—0.67035 + 1.337341

—5.73536 — 4.964791




II. u-Polynomials

Crossings u-Polynomials at each crossing
5
C1,C6 u® -t —u 1
C2 u® 4+ 13u? a1
C3,C4,C
30455 u® —u*t o tut 1
€8, C9, C10
5
C7,C11 uP =3+ —Tu+8




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢ v =13y 4ty -1
€2 y? -yt + 13y — 1
€3,C4,C5 y25+35y24+"'+y—1
€8, C9, C10
e 25 24
C7,C11 Y« 4+ 15yt 4 -+ 241y — 64




